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State the number of sigﬁcant digits in each measurement.

1) 1345 L{ 2) 5.0001x10° & 3) 32.00 ’-{ 4)1.0 L

Name

Solve the following problems and report answers with appropriate number of significant digits.

5) 9.367g - azog-“‘”a" 6) 3.199g/2.59  |.1190, —)@

VWI'“« |€a!+ mber o f A3 15
(3 Past Mo nd:)p(’,u\n.u( VQ'A‘ﬂ+> (_so with least & of Siﬂ Q,‘53>
Identify the sum or difference
700,000 X 10 M

7) (8.24x10% +(7.0x10° = T00,008.2H % jo¥ = 7.0000814 xip!

4 . i
8) (4.23 x 10?%) - (2.1 x 10?) 2,03 x0T = Z . ( xpp-%

Express the product or quotient
~16
9) 466x 10 x (7.59x107)  35.8L4y xio”" —» 3.5¢ x(0

10) (5.5x10% /(8.3 x 10%) 0.bb xo8 = 6.bx/0’

Dimensional Analysis. Show you work to get full credit.

11) 358 g — kg | -
— _Si'g/g / K5 > 0,378 ka/ - 5,68 »Id “3

1000/5

12) 4 days — seconds
4 doyf | 24 hyGes | GO mA | (0350 B45,000 e > 3.456 %10 s

zd/(,(my/((m/

13) 238km — cm
235 lep (Lo o | 190 em . 23,500 gog L. —> 2.3% xi0'cn,

7

14) 150 km/sec — miles per year
(1km = 0.62 miles)

150 w4 J 02 milds | 60 5| bomK | ""“" 365 Hys . 2,732,848,000 miley
S/C‘C /(,\ [ M/f\ | L\)d( \ = 4’a(
Year
Z-T xloq miles
Yonc




